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Conditional, Looping and Jumping Statements 
in Java

Chapter-5

A. 	 Tick () the correct option. 

	 1.	 Which of these is not a type of statements in Java language?

	 a.	 if statement 	 	 b. 	 if … else… if statement 	�

	 c. 	 if … else statement 	 	 d.	 if…elif…if statement 	�

	 2. 	 The switch statement is used as the substitute of the ……………………. . 

	 a. 	 if…else ladder 	 	 b.	 switch ladder �

	 c. 	 if ladder 	 	 d.	 do-while �

	 3. 	 Which of the following keywords is/are used with the switch statement? 

	 a. 	 break 	 	 b. 	 Both a and b �

	 c. 	 default 	 	 d. 	 None of these �

B. 	 Write ‘T’ for true and ‘F’ for false.

	 1. 	 The while is a conditional statement in Java.� .................... 

	 2. 	 The do-while loop is similar to the for loop.� .................... 

	 3. 	 The variable that controls the execution of a loop is known as  
control variable.� .................... 

	 4. 	 The break statement forcefully terminates the loop within which it lies. �................... 

C. 	 Answer the following questions: 

	 1. 	 What is the use of the default keyword in switch statement?

	 ………………………………………………………………………………………… 

	 2.	 What is syntax error? 

		  …………………………………………………………………………………………


